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 

 

 diprotodon has very  

 bulky foot bones; wombat’s are more lightly built to suit a lighter body
 

 

 

 

 

 

 

 

 each molar has 2 lobes (like the number 8)
 

 
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Bullet from a gun 
The hole seems the right size  

for a bullet. 

Guns and bullets were not 

invented at this time. 
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 

  partial upper jaw  

with 3 complete molar teeth 
larger 

(5.0  2.5)  100    =   200%   

(measured along top of 3 teeth) 
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cut, hold 

no function  

(as no canines) 

shear, cut 

chew, grind 

 
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 

 

 

 

close their eyes, ears and nostrils 

underwater 

stops water getting in when hunting or moving 

about underwater 



 

15 - 20 million years ago present-day 

 

 

 


